317

Double Action Swing Clamp Lever Design Dimensions / Accessories model LHA
©Taper Lock Lever Design Dimensions
% Reference for designing taper lock swing lever.
Corresponding Model No. Blank
ponding clall Ty Blank
LHA 0-6/ || u |-]eO
S N Y[
Body Size é Option
Blank/Q[J/Y[J selected
(mm)
Comesponding ModelNo.!| LHA0360 | LHA0400 | LHA0480 | LHA0550 | LHA0650 | LHAQ750 | LHAQ0900 | LHA1050
HHHs A 17 19 23 26 29 35 43 50
Pin Hole for Lever Phasing B 14 16 19 P 25 31 38 44
- C 3 3 4 4 4 4 5 6
D 10.5 10.5 12.5 14.5 16.5 17.5 17.5 20.5
E 17+8,027 20+8.033 25 +8,033 28 +8.033 34+84039 40+8.039 49 +84039 60+8'046
F 15 17 21 235 29 33 42 51
oF*g? G 8 9 n5 | 13 | 155 | 18 | 225 | 28
C0.6 U H 4+0018 4+0018 5+9018 69018 6+0018 8+002 8+g02 10+402
Phasing Pin
o L Y (Roference) | $4hBIX10/94(n8)X10 5(h8)x12| G6(n8)x14| $6(h3)x16| $8(n8)X16] 98(h8)x 16| $10(18)x20
< ;J i Notes
1. Swing lever should be designed with its length according to performance
P graph shown on P.293.
2. If the swing lever is not in accordance with the dimension shown above,

performance may be degraded and damage can occur.

3. The pin hole (¢ H) for determining the lever phase should be added, if necessary.
% 1. Please refer to the swing lever design dimension for quick change lever
that is descripted below when -F option (quick change lever option) is used.
Please make self preparation, when P option is chosen (balance lever option).
©Quick-Change Lever Design Dimensions
% Reference for designing quick change swing lever.
Corresponding Model No. C (mm)
R
- ?0 gt T L e e e e B
A 2 25 30 34 40 46 55 60
Body Size 3| Option F selected B 22 26 32 36 45 53 70 82
C n 12.5 15 17 20 23 275 30
Pin Hole for Lever Phasing D 15-806| 18-806| 22-8020] 25-8020| 30-8020 35.5-802s 45-8025| 55-8030
(Processed if necessary) E 15 19 23 26.5 31.5 36.5 46 55
M<Sc—re>w /ﬂ - /\ F 9.75 12 14.75 17 20 235 29.75 36
Ty G n 14 17.5 20 23 26 32 39
/r[ i 7< & H R5.5 R7 R8.75 R10 R11.5 R13 R16 R19.5
N o @ . — % J 6.5 8.5 10.5 12.5 14.5 16.5 21 25
ol TN # K 2 3 4 4 5 7 9 1
[ 1 i L 13.5 16 18 22 26.5 31 42 46
< (ﬂ)\u = too M M6X1 | M8XT |MI0X1.25|M12X1.5|M14X1.5M16X1.5| M20X2 | M24X2
E 570 N 04 | C06 | C06 | CI a a a a
P 2 2 2 2 2 2 2 2
0L Q 25 | 35 | 35 4 55 | 55 | 75 8
¢D R 3 4 4 4 6 6 8 8
| 3 S 13.5 14 18 19.5 24.5 2775 38 45
- © Ve 2:0 o Phasl . 34 45 45 45 6.5 6.5 9 9
AW = (Reference) | $3X8 | #4X8 | $4X10 | $4X10 | $6X14 | $6X14 | ¢p8X20 | $8X22
- Notes
. H 1. Swing lever should be designed with its length according to performance
graph shown on P.293.
2. If the swing lever is not in accordance with the dimension shown above,
performance may be degraded and damage can occur.
3. The pin hole (¢ R) for determining the lever phase should be added, if necessary.
4. Sells the tightening bolt (LZH10-B) for lever separately.



Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

. . . . . High-Power
@© Accessories : Material Swing Lever for Taper Lock Option Series
Model No. Indication (mm) Pneumatic Series
LZH0360|LZH0400|LZH0480|LZH0550 |LZH0650|LZH0750 |LZH0900 LZH1050
LZH 048 0- T U A A N
Hydraulic Series
Size (Refertothe Design No. Conesponding ModelNo. *2| LHA0360 | LHA0400| LHA0480| LHA0550 | LHA0650| LHA0750 |LHAQ900| LHA1050
graph on theright) (Revision Number) Valve / Coupler
A 120 145 160 170 175 185 | 220 | 270 Hydraulic Unit
B 26 32 40 45 50 58 75 90 . 10 .
peration
/\ C 17 19 23 26 29 35 43 50 Accessories
@ { i
- L/ D 13 16 20 23 25 29 38 45 Cautions/ Others
D E 14 16 19 22 25 31 38 44
A F 17 20 25 28 34 40 49 60 Hole Clamp
6G02 G 15 17 2| 235 | 29 33 42 51 oFA
Q SFC
06 H 13 16 20 225 25 29 375 45
Yl RTA 1. Material : S50CH LHC
i 2. If necessary, the front end should be additionally machined. LHS
‘ 3. When determining the phase, refer to taper lock lever design dimensions for LHW
oF each model for the additional machining. #I;Li
%2. Please refer to the accessory for quick change lever option when TLB:Z
'F' option (quick change lever option) is used. TLA-T
Please make self preparation, when P option is chosen (balance lever option).
. . . . . . Link Clamp
@© Accessories : Material Swing Lever for Quick Change Option e
o (mm) LKC
Model No. Indication LZH0360|L.ZH0400|LZH0480 | LZH0550|L.ZH0650,LZH0750|LZH0900, LZH1050 LKW
Model No. |™_f -F -F -F -F -F -F -F ML
L Z H O 4 8 0 - F Corespoding HodelNo, LHAO360 LHAO400/LHA0480 LHAO550/LHAO650 LHAQ750 LHA0900/ LHA1050 TMA-2
Size Refertothe Design No. -00-F | -00-F | -00-F | -00-F | -00-F | -00-F | -00-F | -00-F TMA-1
graph on theright) (Revision Number) A 22 25 30 34 40 46 55 60
B 22 26 32 36 45 53 70 82 Work Support
M Screw C 1 125 15 17 20 23 275 30 LD
7 D 15-8016| 18-801| 22-8a20| 25-8020| 30-8c20 35.5-8ms 45-8es| 55-8os0 #; c
E 15 19 23 26.5 315 36.5 46 55 TC
. — @ F 9.75 12 14.75 17 20 23.5 29.75 36 X ]
Air Sensing
= | G n 14 17.5 20 23 26 32 39 Lift Cylinder
« - H R5.5 R7 R8.75 R10 R11.5 R13 R16 R19.5 LLW
DI\N E J 65 | 85 | 105 | 125 | 145 | 165 | 21 25 _
z K 2 3 4 4 5 7 9 1 CO”‘F’TC&
Fo1 L 13.5 16 18 2 | 265 | 3 42 46 NI
#D M M6X1 | M8XT |M10X1.25M12X1.5[M14X1.5|M16X1.5| M20X2 | M24X2 LLU
N co4 C0.6 C0.6 @ l al @] C1 DP
p 2 2 2 2 2 2 2 2 DR
~ A Z 120 145 160 170 175 185 220 270 o
< (rov C DT
“ Notes
H 1. Material : S50CH Block Cylinder
2. If necessary, the front end should be additionally processed. 322
3. When determining the phase, refer to quick change lever design dimensions
for each model for the additional machining. Control Valve
4. Sells the tightening bolt (LZH[]0-B) for lever separately. BZL
BZT
@ Accessories : Tightening Bolts for Quick Change Lever - BzxpzG
mm
Model No. Indication LZH0360|L.ZH0400|LZH0480|LZH0550|LZH0650|LZH0750 LZH0900|LZH1050  Pallet Clamp
Model No. N y § J o o N B
B B B B B B B B S
LZH O 4 8 0O-B Corespondingode o |LHAO360LHAO400LHA480/LHAOS50/LHAQ650| LHAO750 LHA0900/ LHAT050 vt
Size (Refertothe Design No. OC-F | -OCO-F 1 -O0-F 1 0 L OC-F L -OC-F | -OC-F | -L0-F Expansion
graph o theright) (Revision Number) A 20 23 28 32 40 46 61 71 Locating Pin
B 6 8 10 12 14 16 20 24 VL
VM
Hexagon Socket G B A
C 7 10 " 13 16 18 23 27 VJ
VK
C | Escrew D 6 8 10 12 14 16 20 24
L / E M6X1 | M8XT |M10X1.25M12X1.5|M14X1.5|M16X1.5| M20X2 | M24X2 Pull Stud Clamp
7N T
: w =
i s = F 10 13 16 18 21 24 30 36 Fa
w G 5 6 8 10 12 14 17 19 Customized
Spring Cylinder
DWA/DWB

318



Double Action Parallel Swing Clamp Lever Design Dimensions / Accessories model LHS
©Taper Lock Lever Design Dimensions
% Reference for designing taper lock swing lever.
Corresponding Model No.
c L Blank
LH S Q = S R - YD
Body Size é Option
Blank/Y[ selected
(mm)
Corresponding ModelNo.*!| LHS0360 | LHS0400 | LHS0480 | LHS0550 | LHS0650 | LHS0750 | LHS0900 | LHS1050
dHus A 17 19 23 26 29 35 43 50
Pin Hole for Lever Phasing B 14 16 19 P 25 31 38 44
= C 3 3 4 4 4 4 5 6
D 10.5 10.5 12.5 14.5 16.5 17.5 17.5 20.5
E 17+8,027 20+8.033 25 +8,033 28 +8.033 34+84039 40+8,039 49 +84039 60+8'046
F 15 17 21 235 29 33 42 51
oF*g? G 8 9 n5 | 13 | 155 | 18 | 225 | 28
C0.6 U H 4+0018 4+0018 5+9018 69018 6+0018 8+002 8+g02 10+402
Phasing Pin
o L ROA S (Referonce) | 94(NB)X10/4(h8)x10] @5(h3)X12| $6(n8)x14) 6(h8)X16| #8(h8) 16| $8(h3)x16|$10(18)x20
< ;J i Notes
1. Swing lever should be designed with its length according to performance graph

©Quick-Change Lever Design Dimensions

% Reference for designing quick change swing lever.

Corresponding Model No.
© L
LHS 0 - IH -
S
Body Size £ Option F selected

shown on P.335,P.336.

2. If the swing lever is not in accordance with the dimension shown above,

performance may be degraded and damage can occur.

3. The pin hole (¢ H) for determining the lever phase should be added, if necessary.

% 1. Please refer to the swing lever design dimension for quick change lever option
that is descripted below when -F option (quick change lever option ) is used.

Please make self preparation, when P option is chosen (balance lever option).

Pin Hole for Lever Phasing

(Processed if necessary)
MScrew  ¢T .
2Cre =
/r[ H i %&
al [ \_
| ] prnenl
< el ‘o | e
F+0.1
=
¢D
| P
@) & o
o &
<| yY
A\ WYRRES
e i
H

347

(mm)
e
A 22 25 30 34 40 46 55 60
B 22 26 32 36 45 53 70 82
C 1 12.5 15 17 20 23 275 30
D 15806 | 18-8016| 22-8020| 25-800| 30-8o20| 3558005 45-8oas| 55-Boz0
E 15 19 23 26.5 315 36.5 46 55
F 9.75 12 14.75 17 20 235 29.75 36
G 1 14 17.5 20 23 26 32 39
H R5.5 R7 R8.75 R10 R11.5 R13 R16 R19.5
J 6.5 8.5 10.5 12.5 14.5 16.5 21 25
K 2 3 4 4 5 7 9 n
L 13.5 16 18 22 26.5 31 42 46
M M6X1 | M8XT |M10X1.25|M12X1.5[M14X1.5M16X1.5| M20X2 | M24X2
N c0.4 C0.6 C0.6 @ @] C1 C1 C1
P 2 2 2 2 2 2 2 2
Q 2.5 3.5 3.5 4 5.5 55 75 8
R 3 4 4 4 6 6 8 8
N 13.5 14 18 19.5 24.5 27.75 38 45
T 34 4.5 4.5 4.5 6.5 6.5 9 9
fesnaPl | $3x8 | ¢4x8 | p4x10 | $4X10 | $6X14 | p6X14| $8X20  $8x22
Notes

1. Swing lever should be designed with its length according to performance graph
shown on P.335,P.336.
2. If the swing lever is not in accordance with the dimension shown above,
performance may be degraded and damage can occur.
3. The pin hole (¢ R) for determining the lever phase should be added, if necessary.
4. Sells the tightening bolt (LZH[10-B) for lever separately.



Swing Clamp Index Model No. Indication | Performance External Lever Design . Cautions
Digest P.285 | Cross Section | Specifications Curve Dimensions | Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

. . . . . High-Power
@ Accessories . Material Swing Lever for Taper Lock Option Series
Model No. Indication (mm) Pneumatic Series
LZH0360|LZH0400|LZH0480|LZH0550 |LZH0650|LZH0750 |LZH0900 LZH1050
LZH 048 0-T ol B R AR ...
Hydraulic Series
Size (feferto the Design No. Corresponding ModelNo. 2| LHS0360 | LHS0400 | LHS0480| LHS0550 | LHS0650 | LHS0750 |LHS0900 | LHS1050
graphontheright) (Revision Number) Valve / Coupler
A 120 | 145 160 | 170 175 185 | 220 | 270 Hydraulic Unit
B 26 32 40 45 50 58 75 90 " 10 .
peration
/\ C 17 19 23 26 29 35 43 50 (At
@ { i
< | \LA D 13 6 | 20 | 23 | 25 | 29 | 38 | 45 Cautions/ Others
D E 14 16 19 22 25 31 38 44
A F 17 20 25 28 34 40 49 60 Hole Clamp
$G*02 G 15 17 2| 235 | 29 33 42 51 ii?
06 H 13 16 20 225 25 29 375 45
1 e
Yl RT"‘ 1. Material : S50CH e
i 2. If necessary, the front end should be additionally machined. [ LHs
‘ 3. When determining the phase, refer to taper lock lever design dimensions for LHW
oF each model for the additional machining. #I;Li
%2. Please refer to the accessory for quick change lever option when BT
“F” option (quick change lever option ) is used. TLA-1
Please make self preparation, when P option is chosen (balance lever option).
. . . . . . Link Clamp
@© Accessories : Material Swing Lever for Quick Change Option e
o (mm) LKC
Model No. Indication LZH0360|LZH0400/L.ZH0480 LZH0550|LZH0650|LZH0750|LZH0900 LZH1050 LKW
Model No. |™_f -F -F -F -F -F -F -F ML
L Z H O 4 8 0 - F Coresponding odel o LHS0360| LHS0400/ LHS0480 | LHS0550| LHS0650| LHS0750 LHS0900| LHS1050 TMA-2
Size Refertothe Design No. -00-F | -00-F | -00-F | -00-F | -00-F | -00-F | -00-F | -00-F TMA-1
graph on the right) (Revision Number) A 22 25 30 34 40 46 55 60
B 22 26 32 36 45 53 70 82 Work Support
M Screw C 1 12,5 15 17 20 23 275 30 LD
7 D 15-8016| 18-801| 22-8a20| 25-8020| 30-8c20 35.5-8ms 45-8es| 55-8os0 #; c
E 15 19 23 26.5 315 36.5 46 55 TC
4 = @ F 9.75 12 14.75 17 20 235 29.75 36 ) )
Air Sensing
= | G n 14 17.5 20 23 26 32 39 Lift Cylinder
« - H R5.5 R7 R8.75 R10 R11.5 R13 R16 R19.5 LLW
DI\N E J 65 | 85 | 105 | 125 | 145 | 165 | 21 25 _
7 K 2 3 4 4 5 7 9 1 CO”‘F’TC&
Fo1 L 13.5 16 18 2 | 265 | 31 42 46 T
#D M M6X1 | M8XT |M10X1.25M12X1.5[M14X1.5|M16X1.5| M20X2 | M24X2 LLU
N co4 C0.6 C0.6 @ l al al cl bp
p 2 2 2 2 2 2 2 2 DR
v DS
< ro (f‘ Z 120 145 160 170 175 185 220 270 oT
© Notes
H 1. Material : S50CH Block Cylinder
2. If necessary, the front end should be additionally machined. 322
3. For the phase determination, the design dimensions of swinging lever should be additionally
machined with reference of the quick change option (-F). Control Valve
4. Sells the tightening bolt (LZH[10-B) for lever separately. BZL
BZT
@ Accessories : Tightening Bolts for Quick Change Lever - BzxpzG
mm
Model No. Indication LZH0360|L.ZH0400|LZH0480|LZHO550 L ZH0650|LZH0750|LZH0900|LZH1050  Pallet Clamp
Model No. B B B B B -B -B -B S
LZH O 4 8 O-B respndng gl |LHS0360|LHS0400/LHS0480|LHS0550 LHS0650| LHS0750|LHS0900/ LHS1050 vt
Size (Refertothe Design No. OC-F | -OCO-F 1 -O0-F 1 0 L OC-F L -OC-F | -OC-F | -L0-F Expansion
graph on the right) (Revision Number) A 20 23 28 32 40 46 61 71 Locating Pin
B 6 8 10 12 14 16 20 24 z;:/‘
Hexagon Socket G B A
C 7 10 " 13 16 18 23 27 \2]
VK
C | Escrew D 6 8 10 12 14 16 20 24
=N / E M6X1 | M8XT |M10X1.25M12X1.5|M14X1.5|M16X1.5| M20X2 | M24X2 Pull Stud Clamp
: FP
/ i \ “S' % F 10 13 16 18 21 24 30 36 Fa
w G 5 6 8 10 12 14 17 19 Customized
Spring Cylinder
DWA/DWB

348



Single Action Swing Clamp Lever Design Dimensions / Accessories model LT-F/LG-F

©AQuick Change Lever Design Dimensions
% Reference for designing quick change swing lever.

:
=) Option

Corresponding Model No.

C
LT 0 -
S
Body Size

C
L[ Jo- -
S
&1 Option

385

Body Size
F selected F selected
(mm)
. X (onespondingMode\No.m LT0360-F | LTO400-F | LT0480-F | LTO550-F | LTO650-F | LTO750-F |LGO900-F| LG1050-F
Pin Hole for Lever Phasing
(Processed if necessary) A 22 25 30 34 40 46 35 60
M Screw oT N B 22 26 32 36 45 53 70 82
1 /7 C " 12.5 15 17 20 23 27.5 30
D 15806 18-801s| 22-8020] 25-8o20| 30-8ono| 35.5-8cas| 45-8eas| 55-8oz0
/FZ E 15 19 23 26.5 31.5 36.5 46 55
Nz ® F 9.75 12 14.75 17 20 235 29.75 36
~ G m 14 | 175 | 20 23 26 32 39
: ' H Rs5 | R7 | R875 | R0 | RIL5 | RI3 | RI6 | R195
&\N = E 5+0A2 J 6.5 8.5 10.5 12.5 14.5 16.5 21 25
0 K 2 3 4 4 5 7 9 1
=01 L 13.5 16 18 22 26.5 31 42 46
<—>¢"D M M6X1 | M8XT |M10X1.25|M12X1.5[M14X1.5M16X1.5| M20X2 | M24X2
y N C0.4 C0.6 C0.6 @] @ @ @ @
' 3 ‘ P 2 2 2 2 2 2 2 2
- ) 59 ol Q 25 | 35 | 35 | 4 | 55 | 55 | 75 | 8
< Yo G 5 . . . . . .
O X S R 3 4 4 4 6 6 8 8
i S 13.5 14 18 19.5 24.5 27.75 38 45
. H T 34 4.5 4.5 4.5 6.5 6.5 9 9
fhasingPin | ¢3x8 | $4x8 | p4x10 | ¢p4x10| p6X14 | ¢6X14| $8X20 | $p8X22
Notes

1. Swing lever should be designed with its length according to performance graph
shown on P.371,P.372.
2. If the swing lever is not in accordance with the dimension shown above,

performance may be degraded and damage can occur.

%1. Please refer to the swing lever design dimension for taper lock lever option

when standard model or -Y option (Swing Angle Selectable option) is used (P.383).

Please make self preparation, when P option is chosen (balance lever option)(P.379).



Swing Clamp Index Model No. Indication| Performance External Lever Design . Cautions
Digest P.285 | Action Description | Specifications Curve Dimensions Dimensions EZEEEE P.445 K.SMEK

Harmony in Innovation

. . . . . . High-Power
@ Accessories . Material Swing Lever for Quick Change Option Series
Model No. Indication Model No. | LZH0360LZH0400LZH0480 LZHO550|LZHO650/LZHO750|LZH0900 LZH1050  Preumatic Series
CF -F -F -F -F -F -F -F
L Z H O 4 O O - F (onespondmgMode\No,w LT0360-F | LTO400-F | LT0480-F | LT0550-F | LT0650-F | LT0750-F |LGO900-F|LG1050-F
Size (Referto the Design No. A 22 25 30 34 40 46 55 60
graphontheright) (Revision Number) B 2 % » 36 4 53 70 8 na:,e /f:m:jplir
ydraulic Uni
M Screw C n 125 | 15 17 20 23 | 275 | 30 .
1 > D 15806 18-801| 22-8020| 25-8020] 30-8o20| 35.5-80s 45-8eas| 55-foxo il 9perat|on
Accessories
E 15 19 23 26.5 315 36.5 46 55
1| _\ F 9.75 12 1475 | 17 20 | 235 | 2975 | 36 Cautions/ Others
- |/ G 1 1w | s | 20 | 23 | 26 | 2 | 39
1 1 : H R5.5 R7 R8.75 R10 R11.5 R13 R16 R19.5
Hole CI
> ¢\ . J 65 | 85 | 105 | 125 | 145 | 165 | 21 25 =
== E SFA
K 2 3 4 4 5 7 9 11 e
Z
L 13.5 16 18 22 26.5 31 42 46
ol M M6X1 | M8X1 MI0X1.25M12x1.5/M14X1.5M16X1.5| M20X2 | M24x2
D N o4 | Co6 | C06 Cl Ci i l al JtHA L
p 2 2 2 2 2 2 2 2 t:g
B UHD s z 120 | 145 | 160 | 170 | 175 | 185 | 220 | 270 aw
O 3 Notes
: ) TLA-2
i 1. Material : S50CH B
H 2. If necessary, the front end should be additionally machined. TLA-1
3. For the phase determination, the design dimensions of swinging lever should be
additionally machined with reference of the quick change option. Link Clamp
%1. Please refer to the swing lever design dimension for taper lock lever option LKA
LKC
when standard model or -Y option (Swing Angle Selectable option) is used (P.383). LKW
LM/LJ
TMA-2
@ Accessories : Tightening Bolts for Quick Change Lever VAL
Model No. Indication Work Support
LD
L Z H O 4 0 O - B Model No. LZH0360|LZH0400/LZH0480|LZH0550|LZH0650|LZH0750|LZH0900|LZH1050 LC
. ) . -B -B -B -B -B -B -B -B TNC
Size (Referto the Design No.
graph on theright) (Revision Number) Corresponding Model No.| LTO360-F | LTO400-F | LT0480-F | LT0O550-F | LT0650-F | LT0750-F |LGO900-F|LG1050-F TC
A 20 23 28 32 40 46 61 71 Air Sensing
Lift Cylind
Hexagon Socket G B A B 6 8 10 12 14 16 20 2% o S
C 7 10 " 13 16 18 23 27
C | EScrew
D 6 8 10 12 14 16 20 24 Compact Cylinder
/ E M6X1 | M8XT |M10X1.25M12X1.5|M14X1.5|M16X1.5| M20X2 | M24X2 LL
/ : \ w a F 10 13 16 18 21 24 30 36 LLR
\ © B LLU
w G 5 6 8 10 12 14 17 19 R
DP
DR
DS
DT

Block Cylinder
DBA
DBC

Control Valve
BZL
BZT
BZX/JZG

Pallet Clamp
VS
VT

Expansion

Locating Pin
VL
VM
V)
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

386



	Swing Lever for LHA-F
	Swing Lever for LHS-F
	Swing Lever for LT-F/LG-F

